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1. The function f(x)=5x"-2x"+x+9 isa

B polynomial [B] Cubic Radical Rational
2. The function 7(x)=vx'-1 isa

[4] Linear [8] Cubic B Radical (2] Rational

3. The function f(x)=x"isa
-Linear . 3| Cubic ‘ Power ]El Quadratic

4, The function f(x)=2x-11is

Bl Linear [B] Cubic [C | Power [D] Quadratic

5. The function F(x)=3x"+2x-1isa
[4]Linear Cubic [C Power B Quadratic

6. The function f(x)=5x"-3x’1x-7isa o
[4] Linear & cubic [C] Power [D] Quadratic

7. If f(x)=x*-9, then
B po,=R [B] D,=(-=-3]UB® [C]D,=[-33] [D] D, =(-3.3)

8 IFf(x1=vx-3 ,then

4] D ,=i3=) W p,-R  [€lD,=(-=31 [bl D=

8. Iff(x)=+vx*-4,then

D ,=(~0,-2)U(2,%) D ,=(-2,2)
D, =[-2,2] B D, =(—=-2U[2)
-
10. If f (x)=— . then
J4—x? -
B o == U2 B8] =272
ED 2[“1_._2 @ -D Iz{_'ﬂj_z]ldig:m}
11, Iff(r}_—”, then
+5c +6
4] D, =(-3-2) ._J:J =(23) [¢! D ,=R\{23} [D] D,=R\{-2.-3)
12,5 F6) =—2FT_ then
fix) x1-5x+6"

[4] D ,=(-3,-2) D.,=|j2,3} B D =r\23 [D] D,=R\{-2,-3)

13. If;{:.)- ; 4 , then
[4] D ,=(-2,2) l,o 221 @ p,=-Rr\-22) [B] D,=R\(-22)




14, Let f(x)=x",and g(x}=x" x 1. Then {fg}(_ﬂ is

| 4 x?
Al E=xh= e -
(‘;}u} p o [g}{x} 9 _
L yx)=—= o1 Ly _Jr-l
Et;m - B] )=

15.Let f{x)=2x"=x+5, and gix)=x . Then (f +g)x) is
[A] (f +2)x)=2x2+2x 45 (F MR =2 =25 45

- (f +2)x)=2x"+5 E (F +g2¥x)=(2x ~x +5x n2
16.Let f{x)=x"+x+5,and g(x)=x.Then (f —g)x) is
(f g)x)=x+3 [B] ¢ -g)x)=x12x +5
B o 2)0)=x"15 [D] (7 —-gxx)=—x7-5
17.Let f(x)=x>+1,and gix)=x +2. Then (fg)x) is
(fg)x)=x+x +2 B (o)) =0 42
(fz)x)=J(x* +1)(x +2) D] (2)x)=x +3
18.Let f (x)=+x -2, and g(x)=x>.Then (gaf )(x) is
(gof Wx)=x'x—4 [B] (gof Nx)=vx? =2
[C] (gof)ax)=vx’+x -2 B cor)=x-2
19. The equation of the line passes through the point (2,1)with slope 2
15
H ¥ =2x -3 fF_I y=2x -1
|__C__Iy=2,r+3 @_}'-‘Ex +1

20.The slope of the line parzallel to the line y =2x +1 is

| 1
A] -2 & 2 €] - Bl -~

i

21.The slope of the line perpendicular to the line v =35x +3 is
1

]
[A] -5 [B] 5 g ﬁ—g

22. The equation of the line passes through (1,2) and (3,4) is

y=x-3 [E_l y=x—1 - ¥=x+1 @ yo=-x+l
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